WEBEORB JX

WS GRN -BEHE)  (mf050-55-60FE ., BHI62EE~SFISEE) /5B

8,000

7,000

6,000

5,000

BAER#EREFRIRERIIEEE
AT R EIRITE DN RER LA

4,000

3,000

2,245

2,000 -

1,000 -
654

418 389 433 427 424 405 408 382 313 403
344 919 280 204 822 282 277 262 262 250 232 228 233 224229 218 204 187 {7¢ 183 228

157 145 137 90 90

S$50555560562 563 H1 H2 H3 H4 H5 H6 H7 H8 H9 HI0H11H12H13H14H15H16H17H18H19H20H21H22H23H24H25H26H27H28H29H30 R1 R2 R3



A ARBDER zeipms0ry JX

SERRFIE

JRItEE

W B8R R - B Hahd)

(&)

18

\

16

14

\14

12

10

== R)|-EHH

o N b~ O o

S62 H3

H8 H13 H18 H23 H27 H28 H29 H30 R1 R2 R3



BRAREAR #ramEcra)IcEs< JX

M B ES R GR)11 - B EaRd)
AR HAR
it 23 it S} - B I i % X 2
3.8km 5.0 24 ¥ 32 W _ 34 29 1.6 6.2 5.5 4.2 5.9
R 2 = te #
e ) A = 4 & ¥ " i #

50.1km

ERAISEE A | (H29-R30D 5 FF15)

O—o—O——O—o—eo——o—o—e—0—_)

859.4 1.0 270 0.0 58.6 2.2 1.6 0.4 0.8 0.0 1.4 35.2

REAS1ATY
@ 1 AT
@ 1oALTF

(D roxe



5l

Jill S E

AN B suseEEstaREER)IE5<

W B AR R - BREARE)
O T YINE (R)I=EH)

*

Y JE (BEE=>RII)

AHFIRBICEITEIRRREAR

SEES 30 R A3FBH B e 1 E BIFEBE &R =N
= 5:44 5:57 6:36 . 5:49 6:27 6:34 6:44
= i) =
800 4921D |*® 4920D 20
CETN B (B |
250 0 1. | | 1. | | 1. | 0 29, 34, ]
50 T
200 . .
- 7:59 8:09 8:15 8:55 0 6:47 7:29 7:38 7:49
150 = 2
493D |** 4922D | *®
() | | () | =
b7 JL 6a | [ 64 ] . 12, | 20
s0 - |
50 ° °
o 11:10 11:20 11:25 12:07 20 9:04 9:43 9:50 10:00
o . 250 2%
4925D | 4924D | *®
@ | | 10 H 9. } """""""""""""" 1 6.1 } """""""""""""" w1 [——— | 34 I 77777777777777777777 1 6. l LEN
s 50
3 o
. 13:28 13:38 13:43 14:25 0 12:18 12:58 13:03 13:13
2% 2%
49270 |™® [ a926D || [T
@Em | 104 (@@ | 1 1. ” 4.
o 100
50 s0
o o
- 16:08 16:18 16:25 17:07] - 16:17 16:58 17:06 17:15
2% 2%
49290 |*® 29, [ 24, | | 4, | 4928D | 10
(#mT P I (B#HH) =
wu 100
50 %
0 - 3 0
- 18:09 18:20 18:27 19:09 . 18:19 18:59 19:05 19:15
4931D 4930D |™®
(8T (B@mE) |
s
o
- 20:13 20:23 20:28 21:11 0 20:20 21.00 21:06 21:16
250 250
49330 |*® 49320 | |
(BHT [ l (BmR) [ 64
1o 100
50 s
o 3




5% (FR)I-ES< J¥

JRitEE

FREGIREEAR smsemszn

W EER R - B8R

2,000

(N)

1,800

1,600

1,400

1,200

1,000

800

600

400

185 187
200 156 156

70 68 68 67 67 67 64

0 |

el

——t

R W

=
x
W
jisfiNterdey
it
indaddei:
=
2



ERFEIEBAR 185y Ty(&fsems)

JX

JRItEE
W a5 GR)I - B EAR)
(A)
2,500
OEHA
2,000 OEHN |
1,500
1,000
500
221 222
el v 104 104 13 9 5 5 5 5 5
0 713 75 61 61 K] ! 51 I 37 37 T I8 T I8 T g4°) |
7 1 % i " 5 5 " * x Z
i — 5% % ¥F il Lt b H 0 R
(=] Al 5’ A =) H
Al H

KmALE D=

BIHENEDLLRWNGEENHYET,



ER% AT

L RFTEME  smsEm

JX

JRitiEE

W EEER GRII - g eEEhE) (B4 40)
Z2  0& | % | | ®m =2 | = w | & x| 8| &
% ¥
— R L il
R e
N B | B | B @\ B #w W om | m | s

@ X s 12.3 328 08| 09 0.8 47.6
CR O E) 03| 08 0.2 1.3
- i 74 113 08! 09 0.9 21.4
) 10 13, 03 0.9 3.4
t - B
BOoR A
it B R A
A E B M|
B T
BE Ok B
13 T

A L BT Rs A ERERE
I8 P L BHEHHAFHRTRH

X145 BEHIL1HK. 37 BEHIL3HK. 64 A EHT6MELTEST
23 1L KRBT L RMARERTES

MR E R LmEEEA
X # H
2 ]
N R 19.7 442 17 18 1.7 69.0
- ? 03| 1.8 14 03 0.9 47




REFRSTRIR (RISEHE)

N

JX

JRitEE

W B 85¢R R - BB HARA)

(BF1MEBE

SHTEE

EE

SHEE

137

90

90

MR DM CBEFICRIER

&5 [FHMITEE] [SF25EE]) [$SFISERE]
800 -
) c—
——
i9l ~— —
600 - “ " ZOM(EEELLE)
n EENE
22
400 - " EE QM ORI R LB
8 % et
Aeﬁaﬁﬁsﬂ u AB21EEM Asﬁgﬁm = EXICERLEGEM
200 -
S — L —
38 28 29
0
R A g B I A - I A g B

XIGHMEDO - EFHENEDHLLMEEN
HYET,



